SONY A7ST RIG

[Ef53i5eR]

D EBHRTBRET M
/4 fIH, EHA
L O (w8 (w8
° LT TEHT
o00o| * ERRSE
cQo 4 WETR
o @ (=l
( FETAEA
(- @ N mami.
oQo TR,
MSHERF U2z
(E@) [} [
TR, S] ks
S o A
o
o
SMENATO
(@) B
o (%)
T LTI
WSS,

SAS01

E 15SmmSEERRFLAL ATH RESIILHE,
= .

BRALFR

© EAIRETILTATSmmiRRIR.

L O REMEAHFRERT. @ &H15SmmSHNIL.

JEREE

© FiBEFHET60HHRE,

[o1]

ST et




[EERR5R]

@ /4t © /4B,
[T EFRE4EORH] [AT315mm/HDMIEIE
e AHrEO SR/FREINERERY]
e TYPE-CH BRI
HSEBRILURSES [l ©
SHE, : .
e, AT © wwosssrREs amen, @ B
PSRRI Q moERERET REGT, @ suvssERERLT
aigit.
@ /43, @ TR
(7 TR S R ]
I @ EnmiER R
[ B IR B T 2B A0IR £ T A
! ! Q sLunmRaEREST

@ 1/48E, (ohEr R

Qo0000Do

IR ER TR
BUIRF, IFRIRAED
BE-R2S

IR FiEER

E Mb—FRLE, L
L Fe . A,

[02]




[FHR/iBR/HDMIZL K/ LR E LR AR ]

EFRRERT R

BALEFR

(%]

H1SmmSHIERY, ATEH

REREERTNG, EVFSZRHT RS M.
RFHARREE.
B EFIRA R FIRER BN EFREFH
HO1/ATERIFUIEN. BRI BNTERRRC.
HDMIZRARESHREEET
n HBRXIRIE TN SIRIEITRIRLLBIRT 5T EHDMIZERANMIRER SRR RERELBDR]
B E1/AEA0RSIL. PREEEL. MREFANEREL SERREED.

1/AERIESFL.

[03]



RUFHONATORRERURERT

SPHEFARI1 /480227,
RENATOBREER,

SHAFFNatoiB e
BHFA, $FRE
TRBANGMIER.

BABSEFEFH
BIRISEhkaRAC.

REFHRRESY. 12VERAEHED, IMNEREBRRE
REAESERFNEATBRFERGERA, BiTRE.

AN

[REIFHR/NATOBREIR M/ R EFHR/ QL HAR5A]

AERFRMSHRERT

SeAAFFNatoigsk
IR, B
FiRELBANG
Mg,

BABRETEFA
BRI SEAEER.

BLHXIRARFR
TR 1 /AERIREF L

SRR
BIETSeAtaeRe.




(1Rt /IFEEE]

BER

i

n XIRLEFREEBAIRI1 /4
RS R BRI BIR,

BB AT <P HRIR>
<EEERR>, REHRM
BRI

NRESEEL  \
[y

BRETSBNBIRE,
FREHEHEWRTR,

[05]



[ZERRATS3EMHER]

MATEATREZRESFEE EEBE

TA-T18-HCC

” TA-QRTH2

TA-AHA6

TA-AHA4

X5 BRLEFR NATOFER 4 Natoi§ &iE M
syE——— (P
SHFH !}1 j REEE HDMI&E HEssE
Wl y

B

TA-BSRA-15

TR

TA-BSP2-15

15mmiB FARE

TA-T37-LAS

BRI

TA-NRA-36

bk

=

TA-T18-BP

iR R R

=>

TA-T18-QRBP3

SEERR

==

TA-T18-QRBP4

IR ERAR

@ 3 1

[06]




TILTA FOR SONY A7S3 RIG

A7SII

TILTF7 | TILTAING



SONYLY,
ATSIT

TILT 77 £ A3 F At



SONY A7SII RIG

[CAGE MANUAL]

A HALF CAGE
DETAILED DEMONSTRATION /##/

Cold Shoe

- 1/4 posion
Hole.
[Top]

For maunting
top handle

For mounting

lighting or

4 microphone
etc

Magnetically
attached

Side rod adaptor| 174 position
mounting hole hole
[Front] (Left)

For mounting
cable clip or
NATO slot etc

For mounting
single rod
adaptor.

NATO slot
[Left]

For mounting
top handle/side
handle etc

@ 15 rod mounting o, or mounting suppert accessories
@ Front an back doubl cold shos mourt withsop block

Universal Top Handle

@© 15mm rod hole
ith TILTA 15mm dovetail plate

© Dovetail plate
© Compatible wi

Baseplate

[o7]

Handle can be 360 degree adjusted with the adaptor

:

Recording handle + Rotation adaptor




Fitted-design cage
with silicone padding
provides full protection
to the camera.

@ /4 Position hole
[For mounting top handle etc.]

@ Cold shoe mount

© 1/4 screw hole for mounting NATO slot
@ Dovetail plate mounting screw hole

@ 1/4 screw hole
[For mounting dovetail plate etc
@ slotted screwdriver
[Magnetically attached to the cage]

@ 1/4 screw hole

[For mounting accessories)

000000Do

[HALF CAGE MANUAL]

© 174 screw hole
For mounting 15mm rod adaptor
/HDMI cable clip/handle etc]

© screw hole for TYPE-C cable clip

@ cold shoe

@ screw hole for 15mm rod adaptor
@ silicone padding

@ Anti-spin stop block

@ screw hole for lens supporter

Take out the screw from
the camera then insert
Install SONY A7slll it into the screw hole.
onto the cage

Fasten the screw
using the magnetic
screwdriver.

The screwdriver is magnetically
attached to the base of the cage.

[08]



[TOP HANDLE/ NATO SLOT/CABLE CLIPS]

HOW TO INSTALL TOP HANDLE

Universal Top Handle
[Optional]

Can be quickly attached
to the cage, giving yo
enhanced shooting
stability.

Mounting the top handlen H
Fasten th
to the 1/4 screw hole asten the screw

FUNCTION DEMONSTRATION

15mm rod hole can be used
for mounting EVF and other

Attach the NATO slot H Fasten the screws
onto the 1/4 screw holes.

HOW TO INSTALL NATO SL HOW TO INSTALL CABLE CLIPS
E Fasten the screws

Attach the cable clips
onto the 1/4 screw holes.

Cable clip

[09]



[Recording handle/NATO adaptor/wooden handle/cold shoe]

HOW TO INSTALL RECORDING
HANDLE AND NATO ADAPTOR

HOW TO INSTALL WOODEN HANDLE
AND COLD SHOE MOUNT

Loosen the screw

on the NATO adaptor,
then slide the handle
into the slot.

1 Attach the NATO adaptor
onto the 1/4 screw hole.

Press the button
for 360-degree
adjustment.

Loosen the screw on
the NATO adaptor
then slide the handle

into the slot. Fasten the screw

Attach the cold shoe
mount onto the 1/4
screw hole

Fasten the screw

The nominal voltage for the recording handle is 8V and
12V. Please do not exceed. Damages caused by inappropriate
operation will not be entitled to warranty.

AN

[10]



[QUICK-RELEASE PLATE/ BASEPLATE]

INSTALLATION

n Mounting the universal
plate onto the 1/4 screw holes.

Same mounting position for
Arca and Manfrotto plates.

Attach the baseplate until
the safety pin is bounced back.

[11]



/il BUILD YOUR VERY OWN SONY A7SIII CAGE

[ SONY A7SIIl ACCESSORY CHART]

TA-T18-HCC

Half Cage

Top Handle

TA-AHA6

Tiltaing Advanced
Side Handle
Attachment Type VI

TA-AHA4

Tiltaing Advanced Side
Handl
Attachment Type IV.

TA

RH-57 / TA-AHAG-L

Tiltaing Side
Advanced Power
ndle

TA-RWH / TA-AH;

Tiltaing Side
Wooden Handle

TA-T18-CC2

HDMI Cable
Clamp Attachment

TA-T18-CC1

UsB-C Cable
Clamp Attachment

TA-SRA-15

15mm Side Single
Rod Holder

TA-BSP2-15

Tiltaing 15mm
LW Baseplate

TA-T37-LAS

PL Mount Lens
Adapter Support

TA-NRA-36

Tiltaing 36mm NATO
Rail Attachment

=>

TA-T18-BP

Bottom Plate

TA-T18-QRBP3

Manfrotto Quick
Release Plate

==

TA-T18-QRBP4

ARCA Quick Release Plate

Cold Shoe

[12]




